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& 464,384
i 5,424,417
OtM Z2|XH = 492,496 367,79 124,702
= 7,058
& 61,300
o 424,138
Metoges XA 492,496 367,794 124,702
= 7,058
L= 61,300
= 424,138
Metog e s X2 324,080 192,192 131,888
& 17,300
o 306,780
101 124 H| 9,000 0 9,000
04 JI2tH22 RS+ 9,000 0 9,000
O=s0| otMze|P 22|
9,000,000 1A 9,000
201 LBt F| 154,960 116,072 38,888
01 AL 22l bl 55,320 61,000 25,680
et el HE AT+ ME 40,0002 *100% 4,000
OMETL HLBE ANAEY 22
50,000& *2002+ 10,000
OOIEBRIINE EA g
100, 0003 »421 63| 2,400
oMY =22 HMZE 1,250,000 *43| 5,000
oM:tLEs ZHl X 280,000 *x20&] 5,600
O3 MUl H&2SR =4
8,000& »303!x30H 7,200
oetdE A Y A AKX
8,000& 20 123 1,920
OZZLH9 HAL=K MERSX =8 Xz
200,000& 8'34*123Hé 19,200
02 23234l 99,640 55,072 44,568
OMHUAZAIE L HEE2L SHZ
150,000 * 170 &+ 123 30,600
OMHOINEE DISYS JER
600,000 x12& 7,200
OMHUHABEAL MIIZ
20,0002 «1671 2+ 128 3,840
Ot Ol (Z)E CCTV AlEE E=
2,000,000& *404 2 8,000
OJIM4Z2=EFHH RAES 20,000, 000& =14 20,000
OMHOIHMASA RX2 22,000,000 *14] 22,000
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OUIXIL &AL THSEAIAE RSB+
8,000,000 =14 8,000
202 04l 2,000 2,000 0
01 =LHGYI 2,000 2,000 0
oNM-tgas =2 ¥ 4 |A2cl ol
20,000 2 503 2,000
301 YPYBNZ 7,720 7,720 0
09 HAtAHIXIZE S 7,720 7,720 0
oetdFEACIY IZtol IOt SAKE
8,000& 20 x 123 1,920
OMHEA I =4 8,000& 250021 x 13 2,000
QetdBotat X& 20,0002 *19H *103| 3,800
302 OI=LMHoHEA = 1,600 1,600 0
02 IZtoI oY =R &2 o= 1,600 1,600 0
Ot HERHISH &5 X3
800,000 200 &K 1,600
307 QI2+0I A 9,000 4,800 4,200
01 ==l 9,000 4,800 4,200
OID2ULH9 XItACIA HE S K&
50,000 15 12 & 9,000
401 Al HI L2 0HHI 55,000 60,000 25,000
& 12,500
i 42,500
01 Al&HI 55,000 60,000 25,000
OMHES X ZE WX 30,000,000 * 104 2 30,000
OAEES tEEZ L A At
25,000, 000% 108 2 25,000
< 12,500
= 12,500
405 KHAHF SHI 84,800 0 84,800
< 4,800
s 80,000
01 Xt 2 SFHSHI 84,800 0 84,800
OMUOIHAZA SEHY L ARIIR
80,000,000 * 14! 80,000
Q20223 THHACHH S AL SHAALY
1,200,000 =4 CH 4,800
& 4,800
otz tEE 2R 2,000 2,000 0
< 1,000
i 1,000
201 LetEdy| 2,000 2,000 0
< 1,000
i 1,000
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01 AL 2lt] 2,000 2,000 0
OSIFEBRIN2E 2L 2,000,000 14! 2,000
= 1,000
= 1,000
S=0| HFAIL MR 8,326 15,512 AT7,186
= 4,163
= 4,163
206 T2 bl 8,326 15,512 AT7,186
= 4,163
= 4,163
01 HHEH| 8,326 15,512 ~7,186
OS=0| QHFAIL SXXH 8,326,000 «14 8,326
= 4,163
= 4,163
A2 2SS siZE X 14,790 14,790 0
= 2,805
= 11,89
201 2Er2 2| 14,790 14,790 0
= 2,805
= 11,89
01 AL 2lt] 14,790 14,790 0
OMHISAB=ER X (=)
5,790, 0002 * 14! 5,790
= 2,805
= 2,895
OMUHS O MB=ER X2 (Xl
9,000, 0002 * 14! 9,000
220l @B 28 Q12Y] 143,300 133,300 10,000
= 43,000
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101 Q1244 143,300 133,300 10,000
= 43,000
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04 DI H2EXS 24 143,300 133,300 10,000
O2=0| oHEp2QF 2AY|
143,300, 00021 *14! 143,300
= 43,000
2 100,300
O ZRIRIH 2S 4,831,690 3,297,986 1,533,704
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= 3,093,334
STHAIE o FHI2Y 235,000 236,920 A1,920
HMazy ze 131,300 133,220 A1,920
101 Q1244 1,500 1,500 0
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UBEN EE =S 1,500 1,500 0
s2=7 2 Manel ey
1,500,0002 %141 1,500
201 Lere gyl 59,800 61,720 A 1,920
01 A2l 4,800 6,720 A 1,920
ORIAE=Y ZAlY| 8,000 +2001 %102 *32 4,800
02 TS| 55,000 55,000 0
O - ¥ HAX M&I| 22|
1,000,0002 *524 5,000
ORAHY 42lbl(E2E)  300,0008*5021 15,000
OR&=Ixte SXIZ2IH 15,000,000 *14] 15,000
OEE H&Il St 20,000,000 *14] 20,000
206 T 2 I 30,000 30,000 0
01 Mt 30,000 30,000 0
ORAR P 30,000,000 * 14! 30,000
302 O =L ol 2 At 2 40,000 40,000 0
02 QoL E RSS2 A S 40,000 40,000 0
ONAE=Y RTH X 200,000 *200CH 40,000
BaETR 22 103,700 103,700 0
101 @1 244l 2,200 2,200 0
04 DA 2RIS 24 2,200 2,200 0
Otf+=BON 0129 2,200,0002! %14} 2,200
201 LBt | 71,500 71,500 0
01 A2l 11,500 11,500 0
o4 GE -  SXBIOXE UMY R
10,000,000 * 14! 10,000
OUFBEOY R 22
1,500,0002 %141 1,500
02 TS| 60,000 60,000 0
oge  oX . SIWIN 222
60,000,000 * 14! 60,000
401 Al2HI 2L 20 b 30,000 30,000 0
01 Al&tH| 30,000 30,000 0
OHILBIE Al8ES B2FH|
15,000, 000! ¥2JH 4 30,000
SHES el 1,836,690 1,063,066 773,624
= 106,356
= 1,730,334
YHES X 469,704 340,000 129,704
101 @1 24| 20,000 20,000 0
VBIENEEP =TS 20,000 20,000 0
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OXtA Mol S=SUHE AR 20,000,000 * 14! 20,000
201 et & 265,000 265,000 0
01 At=22te|H| 212,000 212,000 0
OYMAIE X EHI2SH| 500,000& 122 6,000
OLMESE QHME 16,000, 000& * 141 16,000
OZ& MUl a2 24|
5,000, 000& = 14! 5,000
OXt ol S=SUsS gz
20,000,000& * 14! 20,000
OMoigerE I A& = 100,000& *5H *302] 15,000
os=2=+ % H& FHl Sx=
150,000, 000& * 14! 150,000
02 8522l 53,000 53,000 0
O&t=2M &2altl 1,000, 000& = 14! 1,000
OYMAIEE 2E2= 500,000& 128 6,000
Oxtg |XZ2eldl 5,000, 000& *2CH 10,000
(OPNE= 3==4=: K= 1,000, 000& *3CH 3,000
OX&IIEE A=) =Xl2el 29
33,000,000& * 14! 33,000
206 M=l 20,000 20,000 0
01 MHZHl 20,000 20,000 0
o= P& 20,000,000& * 14! 20,000
301 LEHEN S 3,000 3,000 0
09 HAIAHIXIE = 2,000 2,000 0
OXS AL M 2I2tel mW=H|
2,000, 0003 * 14| 2,000
2IIEtE4= 1,000 1,000 0
OMOoNtHZ =S+ & 1,000, 000& * 14! 1,000
302 OIFL T EA = 59,004 32,000 27,004
02 2IZITHH RS REsE2a S 59,004 32,000 27,004
OMoiHeE X SHEH0 22t AoiXI=
2,000, 0003 * 14| 2,000
O 8= X2 200,000 x90H 18,000
oxsgNs ¥
8,798& ~4 Al 2H+62] x90L 19,004
OAMSAIE Tloi HHXIES 20,000,000 14! 20,000
307 212t0l A 2,700 0 2,700
06 2= 2,700 0 2,700
oXsgN 282 30,0003 90 2,700
401 AIEHIZL 20HYI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
OXNSHEEX £X 100,000, 000& * 14! 100,000
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LRSI (EX) 180,000 0 180,000
S 90,000
= 90,000
401 Al HIZ SO 180,000 0 180,000
S 90,000
= 90,000
01 Al€H| 180,000 0 180,000
OUddsEI 24 180,000,000 » 14 180,000
S 90,000
= 90,000
Sl 28 41,186 75,066 A33,880
S 16,356
= 24,830
201 £et2E| 20,000 19,000 1,000
S 10,000
= 10,000
01 AtR2telH 20,000 19,000 1,000
OS=oll28 It S2H| 20,000,000& 14| 20,000
S 10,000
= 10,000
307 212+l 21,186 56,066 A34,880
S 6,356
= 14,830
06 28= 21,186 56,066 A34,880
OS=oll28 It N& 21,186,000 « 14| 21,186
< 6,356
= 14,830
ZEU 21,800 48,000 A26,200
201 Zet=dhl 21,800 0 21,800
01 At 22l 21,800 0 21,800
© RO<% dd oy =574
2,000,000& * 14! 2,000
O& ==t Xt 660,000 *30! 19,800
MNATHH N ZSEHE = 600,000 600,000 0
401 Al HIZL 20l 600,000 600,000 0
01 AlEHI 600,000 600,000 0
O XA THoH M 2
600,000,000& * 14! 600,000
Nedl A= 524,000 0 524,000
101 14| 9,000 0 9,000
04 J1ZtHZ22 S 9,000 0 9,000
OoN&EN =9 150,000 x221 %30 9,000
201 2823yl 15,000 0 15,000
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02 3323 15,000 0 15,000
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01 Al€H| 40,000 10,000 30,000
OSZAK tHEZH EH 30,000,000 14! 30,000
OMHUAIE 72+ 10,000,000 14 10,000
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= 1,210,000
S 242,000
= 968,000
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= 1,210,000
< 242,000
= 968,000
01 Al€H| 2,408,000 0 2,408,000
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= 1,204,000
S 240,800
= 963,200
03 A& =0 12,000 0 12,000
OYYX T S4B S8 LYl
12,000,000& 14| 12,000
= 6,000
S 1,200
= 4,800
oIS FH(ZINIZEAAH) 300,000 0 300,000
= 150,000
< 30,000
= 120,000
401 Al HIZ SO 300,000 0 300,000
= 150,000
< 30,000
= 120,000
01 AlEHI 300,000 0 300,000
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ol 4 JIE8AM 222 M
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OULSH (LPHFRR 9,000,000& 14! 9,000
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OQJt=Hl ¥ 282 100,000& *33¢! 3,300
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I plekel &2
ol plgel B#E A (erol: &8
- _ - &
SN ZH - S(S) - MRAY - BAS S dImEET
201 et gy| 1,900 1,900 0
= 570
< 266
i 1,064
01 At 2teltl 1,900 1,900 0
ORCIFN QIS & ZAAA
1,900,000& *14] 1,900
= 570
< 266
s 1,064
CHE 2tel 17,900 17,900 0
SXgs 29 17,900 17,900 0
201 LetEdy| 17,900 17,900 0
01 At 2teltl 17,900 17,900 0
OERA=EM M= 75,0003 1725 12,900
osXgs 22 K& 4,000,000& 13l 4,000
O=pll 222 ME 500,000& *13] 500
O3Z&X AB WS 2AHl 250,0003 1 23] 500
rgkel A& EH 249 164,320 187,040 222,720
< 24,000
i 140,320
Qrgkel A2 EHl |X 84,320 67,040 17,280
201 LetEdy| 52,320 50,040 2,280
02 2322l 52,320 50,040 2,280
olge HasS=AE Iz
20,0002 *30 A +12& 720
ORI B LAl NEHLBEAAE HME
3 AIBE 70,000 2000 A+ 12& 16,800
ORILAFBAIL L XNXHYZBAIAELY FD|
= 20,0003 2000 A+ 128 4,800
ORI FHAAY X 2%
30,000, 000& *14] 30,000
202 04l 3,000 3,000 0
01 = LHGYI 3,000 3,000 0
olgens & 3FA 70,0002 *x221%103] 1,400
ORILSl FBAIL SHAE HY
20,000 *221+403] 1,600
401 A& HI YL 20| 29,000 14,000 15,000
01 Al&HI 29,000 14,000 15,000
onge A2 ella] 14,000, 000& » 14! 14,000
P CIETE NS F|
5,000, 000& «30H & 15,000
HRAEE AFUK S 80,000 120,000 A40,000
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o 24,000
= 56,000
405 XHAFEISHI 80,000 120,000 240,000
= 24,000
o 56,000
01 At 2 EFHSHI 80,000 120,000 240,000
OsoletXY =& X&oHY 2 HUSHEAL
b 40,000,000 24! 80,000
= 24,000
= 56,000
AFS|QHA QY olZet = 1,100,681 835,083 265,598
S &2t M Al E ccTv2tel 1,100,681 835,083 265,598
CCTVS S 2NAHEH 29 & 22 451,281 285,683 165,598
201 2t A Y| 120,281 117,683 2,598
01 AP 22|t 19,076 8,720 10,356
OZHMHAE SAD| Xz 2,376,000& ~1CH 2,376
OZMAE SIEAED AXE 600,000 =2CH 1,200
OZHIAEH H2D| L HI4 Xz
1,000,000 x 14! 1,000
OHHNAHEH A2 L DB 2
100,000 *30H 3,000
OZMHE E22 HE 5,000,000 =14l 5,000
OPHHHAIYR HHA 2
5,000,000 x 14l 5,000
O H2tZIo| A P 1,500,000 1" Al 1,500
02 =24 101,205 108,963 AT ,758
OCCTVS St 2 MAIAE SXE4E 2HH|
85,000,000 x 14! 85,000
OSEZAMAZE N (WS) SAES 24|
74,000,000 %0, 15%1.1 12,210
oststs)| KBS 4|
22,935,000& *0.08%1.1 2,019
OFRAHMEAEII(UPS) SXEL 29|
22,449,000 *0.08%1.1 1,976
405 XHAFEIEHI 331,000 168,000 163,000
01 AMAtY S EFESEH| 331,000 168,000 163,000
O0|&E3ts ANEAEX 2
186,000, 000! * 14! 186,000
OUHERZA AR 2 50,000,000 * 14! 50,000
HERD HEAXAX 28 2L
31,000,000 14! 31,000
ONEZ2UHAME 2 15,000, 000-& =2CH 30,000
ONMEZWMAZER N 2L 7,000,000 x22= 14,000
OAELCXE otECIAT 2L
20,000, 000& 1= 20,000
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CCTVE Xl & z2tel 649,400 549,400 100,000
201 et Fy| 249,400 249,400 0
02 23224l 249,400 249,400 0
ocCvadlsld 2=
100,000 * 13000 2+ 1200 & 156,000
OCCTVHIIR = 15,0002 *1300H A+ 1200 & 23,400
OQCCTVAIE &l RXEx 89|
50,000,000& 1 50,000
OCCTVE Z 4l =& & B
20,000,000 14! 20,000
401 A& HI YL 20| 400,000 300,000 100,000
01 Al&HI 400,000 300,000 100,000
Q&IFCCTV X ¥ =FCCTV WXl
400,000, 000& * 14! 400,000
SHY2HAH| (et D) 117,200 145,370 228,170
Ol 2HH| (THL & D) 67,648 90,636 A22,988
ol A (LM D) 67,648 90,636 222,988
101 214 H| 67,648 90,636 A22,988
01 2= 67,648 88,463 220,815
oxU2R¢ 10,8413 * 1321 %480 Al 2+ 67,648
Jl2Z 8 (HterA 1t 49,552 54,734 Ab5,182
Jl2Z 8 (oA 1) 49,552 54,734 N5,182
201 LetEdy| 27,052 34,334 AT,282
01 At 2teltl 27,052 34,334 AT,282
oget=ZH| 14,020, 000& » 14! 14,020
O=gHl 7,104,000 14! 7,104
ogx=z 5,928,000& * 14! 5,928
202 04l 16,900 16,200 700
01 = LHGYI 16,900 16,200 700
OYRFA JI20HI 16,900, 000& » 14! 16,900
203 PR F2AY| 5,600 4,200 1,400
03 Al =X R F=XH| 2,000 0 2,000
QLM EZHRFX 2,000,000& 14! 2,000
04 SN2 LRFAH| 3,600 4,200 A600
OFRA2IHRFAY| 300,000+ 12& 3,600
MRPES (oA 1t 300,000 209,513 90,487
LIS el XIS (Ko & ) 300,000 209,513 90,487
LHE e XI & (M e & D) 300,000 209,513 90,487
R2JISHEEZS 300,000 159,341 140,659
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